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CURRENT ELECTRICITY

1. Choose the correct alternative

flow from the point of lower potentail to

a point of higher potentail.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CULusLRFtkE6

A. Electrons

B. Positive charges

C. Current

D. Protons

Answer: A

o Watch Video Solution

2. Choose the correct alternative

When the resistance of the conductor

increases then the current will


https://dl.doubtnut.com/l/_CULusLRFtkE6
https://dl.doubtnut.com/l/_6LEbmZF7GGSh

A. increase

B. decrease

C.remain same

D. becomes double

Answer: B

o Watch Video Solution

3. Choose the correct alternative
If the resistance in the circuit is increased by

four times by keeping the potential difference


https://dl.doubtnut.com/l/_6LEbmZF7GGSh
https://dl.doubtnut.com/l/_tSWjs9U4BkcS

same, the current in the circuit

becomes

A. remains same

B. four times

C.one fourth

D. half

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tSWjs9U4BkcS

4. Choose the correct alternative and write it
along its allotted alphabet:

What will happen to the current passing
through a resistor, if the potential difference
across it is doubled and the resistance is

halved?

A. remains unchanged

B. becomes doubled

C. becomes half

D. becomes four times


https://dl.doubtnut.com/l/_uEsW1dTq853h

Answer: D

o Watch Video Solution

5. Choose the correct alternative
Straight line is obtained on drawing the graph
of current against potential difference. This

proves

A. Faraday’s Law

B. Ohm's Law

C. Fleming’s left hand rule


https://dl.doubtnut.com/l/_uEsW1dTq853h
https://dl.doubtnut.com/l/_Rr0FUmHP9Lwg

D. Maxweil’s Law

Answer: B

° Watch Video Solution

6. Choose the correct alternative
If two resistors of 10 Omega and 15 Omega are
connected in parallel, then the equivalent

resistance will be Omega.

A. 25


https://dl.doubtnut.com/l/_Rr0FUmHP9Lwg
https://dl.doubtnut.com/l/_TLKniq504KyP

B. 150

S| =

Answer: D

o Watch Video Solution

7. Choose the correct alternative
If the effective resistance is to be decreased,
then the number of resistors should be

connected in


https://dl.doubtnut.com/l/_TLKniq504KyP
https://dl.doubtnut.com/l/_wz3687mhITha

A. parallel

B. series

C. mixed arrangement

D. none of the above

Answer: A

o Watch Video Solution

8. Choose the correct alternative

Six resistors of 5a cach are connected in a


https://dl.doubtnut.com/l/_wz3687mhITha
https://dl.doubtnut.com/l/_QiXjJg8sfhbL

series combination. What will be the effective

resistance in the circuit?

A. aﬂ
B. 32
C. 2Q)

D. 64()

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_QiXjJg8sfhbL

9. Choose the correct alternative

wire is connected to a metal plate

buried deep underground near the house and

is used for safety purposes.

A. Live
B. Earth
C. Neutral

D. Fuse

Answer: B

‘ o Wiak lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_40pMrPKUuGDD
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10. Complete the paragraph

Select the appropriate options and complete
the following paragraph.

(neutral, earth, live, series, _ potential
difference, parallel, 220 V, 110 V)

There are three types of wires used for
domestic connections. The wire which is red or
brown in colour through which current enters
iscalledas wire. The wire which is blue or

black in colour through which current retums

is called as wire. The wire which is yellow


https://dl.doubtnut.com/l/_40pMrPKUuGDD
https://dl.doubtnut.com/l/_U9ckE0EtcQTT

or green in colour and used for safety

purposes is called as wire. Various

combination so that across every

appliance remains the same. In India, the

voltage difference between the live and

neutral wires is about

o Watch Video Solution

11. Name the following

The difference between the values of two


https://dl.doubtnut.com/l/_U9ckE0EtcQTT
https://dl.doubtnut.com/l/_stYuzNsHWW0B

different potentials

o Watch Video Solution

12. Name the following

A flow of electrons through a conductor

° Watch Video Solution

13. Name the following

The charge of one electron

o Watch Video Solution



https://dl.doubtnut.com/l/_stYuzNsHWW0B
https://dl.doubtnut.com/l/_DrPlutQDkKwb
https://dl.doubtnut.com/l/_kDNGEjRW3qWs

14. Name the following

Substances having very low resistance

° Watch Video Solution

15. Name the following

Conductors which do not obey Ohm's law

o Watch Video Solution



https://dl.doubtnut.com/l/_kDNGEjRW3qWs
https://dl.doubtnut.com/l/_WlkV4iTF4f82
https://dl.doubtnut.com/l/_XTnSM0aFlUAb

16. Name the following
A continuous path of an electric current
through conducting wires connected to the

two ends of a cell and other resistances

° Watch Video Solution

17. Name the following
A two ended component having a given

amount of resistance between its two ends

° Watch Video Solution



https://dl.doubtnut.com/l/_VUaabYHZeRaO
https://dl.doubtnut.com/l/_KqqVLjx6H56r

18. True or False.
Work has to be done against the electric field
to take a positive charge from a point of lower

potential to a point of higher potential.

o Watch Video Solution

19. True or False.
One coulomb current is said to flow in a .
conductor, if one ampere charge flows

through y it every second.


https://dl.doubtnut.com/l/_KqqVLjx6H56r
https://dl.doubtnut.com/l/_tXsyFV9osdDa
https://dl.doubtnut.com/l/_PmsAxuVgdk0f

° Watch Video Solution

20. True or False.

The unit of resistance is called ohm (Q).

o Watch Video Solution

21. True or False.
Electric cell is used to apply a potential

difference between two ends of a conductor.

o Watch Video Solution



https://dl.doubtnut.com/l/_PmsAxuVgdk0f
https://dl.doubtnut.com/l/_GCpdaxgP19Yj
https://dl.doubtnut.com/l/_10A6Zp2oiqoA

22. True or False.
The potential difference of a cell is caused by

chemical reactions occurring inside the cell.

o Watch Video Solution

23. True or False.
The free electrons in a conductor are the

carriers of positive charge.

o Watch Video Solution



https://dl.doubtnut.com/l/_10A6Zp2oiqoA
https://dl.doubtnut.com/l/_W0QT4BKZdjHw
https://dl.doubtnut.com/l/_hjtAsFjGHuDp

24. True or False.
Resistivity is a specific property ofa material
and different materials have different

resistivity.

° Watch Video Solution

25. True or False.
Ammeter is used to measure the potential

difference in the circuit.

° Watch Video Solution



https://dl.doubtnut.com/l/_tQjzRyNtXGmY
https://dl.doubtnut.com/l/_eWfAppEHCF8p

26. True or False.
Those substances which have extremely high

resistance are called insulators.

° Watch Video Solution

27. True or False.
When resistors are connected in Series, the
effective resistance is less than each of the

individual resistances.

o Watch Video Solution



https://dl.doubtnut.com/l/_eWfAppEHCF8p
https://dl.doubtnut.com/l/_1B4McRP4WQeK
https://dl.doubtnut.com/l/_7oxs9l6TFgpk

28.0dd one out

coulomb, volt, ampere, charge.

o Watch Video Solution

29. Odd one out

Rubber, Glass, Aluminium, Wood.

o Watch Video Solution



https://dl.doubtnut.com/l/_7oxs9l6TFgpk
https://dl.doubtnut.com/l/_Hma4BDEWKiip
https://dl.doubtnut.com/l/_RtJw5qOJWFdJ

30. Odd one out

Live wire, Fuse wire, Earth wire, Neutral wire,

o Watch Video Solution

31. Complete the analogy

ImV:10 °V: : 1uV:

o Watch Video Solution



https://dl.doubtnut.com/l/_lTyFG5njy73E
https://dl.doubtnut.com/l/_1QyXNYYjgHNS

32. Complete the analogy

Electric current: ::electric  charge:

column

o Watch Video Solution

33. Complete the analogy
Ammeter: measures current

measures potenial differce

o Watch Video Solution



https://dl.doubtnut.com/l/_8vz5K8TzEwXI
https://dl.doubtnut.com/l/_eDofZXwdE6nh
https://dl.doubtnut.com/l/_lunaTt13cIHJ

34. Complete the analogy

< n
vo — mpera:ohm: : colum nd: _  _
a Sec o - T

o Watch Video Solution

35. Complete the analogy
Resistance in series: current is same

Resistance in parallel:

o Watch Video Solution



https://dl.doubtnut.com/l/_lunaTt13cIHJ
https://dl.doubtnut.com/l/_1NY60vT0Odxr

36. Answer the following
Explain the concept of flow of electric current
through a conducting wire, when potential

difference is maintained between its two ends.

o Watch Video Solution

37. Answer the following
Explain the mechanism of current flowing
through a metalilic wire when connected to a

cell or battery.

| & I


https://dl.doubtnut.com/l/_lpjxMbr2KxxT
https://dl.doubtnut.com/l/_deUN0EzU2HnO

| ¥ Watch Video Solution |

38. What is the magnitude of charge on an

electron?

° Watch Video Solution

39. Answer the following
Classify the below units into units used to
measure potential difference and electric

current.


https://dl.doubtnut.com/l/_deUN0EzU2HnO
https://dl.doubtnut.com/l/_EnN78HpNZAOz
https://dl.doubtnut.com/l/_iiv31UNpzc6I

(volt, ampere, millivolt, microvolt, milliampere,

microampere, column/sec, joule/sec).

° Watch Video Solution

40. Answer the following

Define one ampere.

o Watch Video Solution

41. Answer the following

Which units are preferred for measuring the


https://dl.doubtnut.com/l/_iiv31UNpzc6I
https://dl.doubtnut.com/l/_RGqspLV5wwdu
https://dl.doubtnut.com/l/_ThOIemSFrEVQ

smaller values of current?

o Watch Video Solution

42. Answer the following

When resistors are connected in series, they
are connected one after another. If any one of
them does not function, the circuit breaks and
there is no flow of electricity. If two give less
individually. If three bulbs are connected in

series, their light output will decrease further.


https://dl.doubtnut.com/l/_ThOIemSFrEVQ
https://dl.doubtnut.com/l/_2jybIcTEZmxv

Think about it: What is the reason behind

this?

° Watch Video Solution

43. Answer the following
Make a list of conductors and insulators you

see around you.

° Watch Video Solution



https://dl.doubtnut.com/l/_2jybIcTEZmxv
https://dl.doubtnut.com/l/_VdZcdMRo6wN2

44, Answer the following
Which law is proved in the experiment of
electric current, potentail difference and

electric resistance? Explain it.

o Watch Video Solution

45, Answer the following
What will be the effecct of change in the

length and thickness of the eletrical wire in


https://dl.doubtnut.com/l/_2c8sw9QdS0RG
https://dl.doubtnut.com/l/_mvXW4uV1wuRw

the experiment of electric current , potentail

difference and electric resistance?

° Watch Video Solution

46. Answer the following question:

How will you prove that the unit of resistivity

is Q —m?

° Watch Video Solution



https://dl.doubtnut.com/l/_mvXW4uV1wuRw
https://dl.doubtnut.com/l/_hXCnJwcx2laK

47.The resistance of a conductor of length x is
r. If its area of cross section is a, what is its

resistivity? What is its unit?

o Watch Video Solution

48. Answer the following
Find the expression for the resistors

connectred in series combination.

o Watch Video Solution



https://dl.doubtnut.com/l/_2kAuF6igOlM3
https://dl.doubtnut.com/l/_28xFalM1LZUW
https://dl.doubtnut.com/l/_58TnxDBEXxIu

49. Answer the following

What are super conductors?

o Watch Video Solution

50. Answer the following
Find the expressionm for the resistors

connected parallel combination.

o Watch Video Solution



https://dl.doubtnut.com/l/_58TnxDBEXxIu
https://dl.doubtnut.com/l/_nuGBnjPiZhBm

51. Answer the following
What happens to the effective resistance
when individual resistance are connected in

series and parallel?

o Watch Video Solution

52. Answer the following question:
Three  resistances 1z, x9 and x3 are
connected in series in a circuit . X is the

effective resistance. The properties observed


https://dl.doubtnut.com/l/_9IBOQXNUf5vy
https://dl.doubtnut.com/l/_seZu6Tnmd2nZ

for these different ways of connecting z, x4
and x3 are given below. Write the way in which
they are connected in each case.(l-current, V-
potential difference, x-effective resistance)

Current | flows through 1, 5 and z3.

o Watch Video Solution

53. Answer the following question:
Three  resistances 1, x5 and x3 are
connected in a circuit in different ways. X is

the effective resistance. The properties


https://dl.doubtnut.com/l/_seZu6Tnmd2nZ
https://dl.doubtnut.com/l/_pgLlrOLHvcPW

oberved for these different ways of connecting
x1, T3 and 3 are given below. Write the way
in which they are connected in each case.(l-
current, V-potential difference, x-effective
resistacen)

x is larger than z;, 5 and z3.

o Watch Video Solution

54. Answer the following question:
Three  resistances xi,z5 and z3  are

connected in a circuit in different ways. X is


https://dl.doubtnut.com/l/_pgLlrOLHvcPW
https://dl.doubtnut.com/l/_b8BHqtehnHOU

the effective resistance. The properties
oberved for these different ways of connecting
x1, T3 and x3 are given below. Write the way
in which they are connected in each case.(I-
current, V-potential difference, x-effective
resistacen)

x is smaller than x{, z5 and x3.

o Watch Video Solution

55. Answer the following question:

Three  resistances 1, x5 and x3 are


https://dl.doubtnut.com/l/_b8BHqtehnHOU
https://dl.doubtnut.com/l/_S9O9eutECiva

connected in a circuit in different ways. X is
the effective resistance. The properties
oberved for these different ways of connecting
x1, T3 and 3 are given below. Write the way
in which they are connected in each case.(l-
current, V-potential difference, x-effective
resistacen)

The potential difference across x;, 3 and x3

is the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_S9O9eutECiva

56. Answer the following question:

Three  resistances xi,z5 and z3  are
connected in a circuit in different ways. X is
the effective resistance. The properties
oberved for these different ways of connecting
x1, 9 and x3 are given below. Write the way
in which they are connected in each case.(I-
current, V-potential difference, x-effective
resistacen)

r = X1+ Ty + T3.

o Watch Video Solution



https://dl.doubtnut.com/l/_DM4Z7dzJXtKe

57. Answer the following question:

Three  resistances xi,z5 and z3  are
connected in a circuit in different ways. X is
the effective resistance. The properties
oberved for these different ways of connecting
x1, 9 and x3 are given below. Write the way
in which they are connected in each case.(I-
current, V-potential difference, x-effective

resistacen)

OHOEe

o Watch Video Solution

Tr =



https://dl.doubtnut.com/l/_vNKe1A2W82dU

58. Answer the following
State the difference between effective
resistance, when resistors are connected in

parallel and series.

o Watch Video Solution

59. Answer the following
An electricia was connecting various dometic
appliance at John's home. John asked him

about the precautions to be taken while using


https://dl.doubtnut.com/l/_vNKe1A2W82dU
https://dl.doubtnut.com/l/_xWeBb9GnsY1K
https://dl.doubtnut.com/l/_u8839nLV9JZM

electricity. What all precautions would the

electrician tell?

° Watch Video Solution

60. Give reasons:
Potential difference produces a current in the

circuit.

° Watch Video Solution



https://dl.doubtnut.com/l/_u8839nLV9JZM
https://dl.doubtnut.com/l/_Mwe73HsUgjEM

61. Why are some substances are conductors

while others are insulators?

o Watch Video Solution

62. Give reasons:

Why can our body conduct electricity?

o Watch Video Solution



https://dl.doubtnut.com/l/_KHCJRBq0N7Na
https://dl.doubtnut.com/l/_VvDlZMqA2RGY

63. Give reasons:
The material with low melting point is used for

making fuse wire.

o Watch Video Solution

64. Distinguish between potential difference

and electric current.

o Watch Video Solution



https://dl.doubtnut.com/l/_P3QFAFAxMji5
https://dl.doubtnut.com/l/_lCcNzGCuZP5H

65. Distinguish between resistance in series

and resistance in parallel.

o Watch Video Solution

66. Questions based on paragraph

While performing an experiment on electric
current, a student was given different
electrical components such as conducting
wires, ammeter, voltmeter, 9V_ battery, plug

key, three identical resistors (62, 62 and 6f2).


https://dl.doubtnut.com/l/_2k5exeMsZqOn
https://dl.doubtnut.com/l/_tVeNEO63HTI2

How should the three resistors be connected

to get the effective resistance of 18(2?

o Watch Video Solution

67. Questions based on paragraph

While performing an experiment on electric
current, a student was given different
electrical components such as conducting
wires, ammeter, voltmeter, 9V_ battery, plug

key, three identical resistors (6€2, 62 and 6f2).


https://dl.doubtnut.com/l/_tVeNEO63HTI2
https://dl.doubtnut.com/l/_i4rbFfHt3BXP

How should the three resistors be connected

to get the effective resistance of 2(2?

o Watch Video Solution

68. Questions based on paragraph

While performing an experiment on electric
current, a student was given different
electrical components such as conducting
wires, ammeter, voltmeter, 9V_ battery, plug

key, three identical resistors (6€2, 62 and 6f2).


https://dl.doubtnut.com/l/_i4rbFfHt3BXP
https://dl.doubtnut.com/l/_ufu1bFX4hl6X

Which component will provide the potential

difference in a circuit?

o Watch Video Solution

69. Questions based on paragraph

While performing an experiment on electric
current, a student was given different
electrical components such as conducting
wires, ammeter, voltmeter, 9V_ battery, plug

key, three identical resistors (6€2, 62 and 6f2).


https://dl.doubtnut.com/l/_ufu1bFX4hl6X
https://dl.doubtnut.com/l/_yrmjvpDzrOzX

Calculate the electric current, if all the

resistors are connected in series.

o Watch Video Solution

70. Questions based on paragraph

While performing an experiment on electric
current, a student was given different
electrical components such as conducting
wires, ammeter, voltmeter, 9V_ battery, plug

key, three identical resistors (6€2, 62 and 6f2).


https://dl.doubtnut.com/l/_yrmjvpDzrOzX
https://dl.doubtnut.com/l/_gB5YWtH7BeqT

Calculate the electric current, if all the

resistors are connected in parallel.

O Watch Video Solution

71.Umesh has two bulbs having resistances of
1502 and 30€2. He wants to connect them in ,a
circuit, but if he connects them one at a time
the filament gets burnt. Answer the following.

What are the characteristics of this way of

connecting the bulbs?

° Watch Video Solution



https://dl.doubtnut.com/l/_gB5YWtH7BeqT
https://dl.doubtnut.com/l/_F8a7HGbDzhWe

72.Umesh has two bulbs having resistances of
1502 and 30€2. He wants to connect them in ,a
circuit, but if he connects them one at a time
the filament gets burnt. Answer the following.

What will be the effective resistane in the

above circuit?

° Watch Video Solution

73. Solve the following examples (numerical

problems):


https://dl.doubtnut.com/l/_F8a7HGbDzhWe
https://dl.doubtnut.com/l/_RYjnyqMyZo65
https://dl.doubtnut.com/l/_MY1aD3pk3442

If a charge of 420 C flows through a
conducting wire in 5 minutes what is the value

of the current?

o Watch Video Solution

74. Acurrent of 0.4Aflowsthrough a conductor
for 5minutes. How much charge would have

passed through the conductor?

o Watch Video Solution



https://dl.doubtnut.com/l/_MY1aD3pk3442
https://dl.doubtnut.com/l/_XbsY1BtrrmOS

75. A current of 024 A flows through a
conductor when a potential difference of 24 V
is applied between its two ends. What is its

resistance?

o Watch Video Solution

76. The resistance of the filament in a light
bulb is 1000€2. If the bulb is fed by a current
from a source of potential difference 230 V,

how much current will flow through it?

| & I


https://dl.doubtnut.com/l/_n92FqvfH9hRY
https://dl.doubtnut.com/l/_mWQ8vlBlpxgf

| ¥ Watch Video Solution |

77. Determine the current that will low when a
potential difference of 33 V is applied between
two ends of an appliance having a resistance
of 110€2. If the same current is to flow through
an appliance having a resistance of 500(2, how
much potential difference should be applied

across its two ends?

o Watch Video Solution



https://dl.doubtnut.com/l/_mWQ8vlBlpxgf
https://dl.doubtnut.com/l/_5QntynLmtOOn

78. The length of a conducting wire is 50 cm
and its radius is 0.5 mm. If its resistance is 3012

what is the resistivity of its material?

o Watch Video Solution

79. Determine the resistance of a copper wire
having a length of 1 km and diameter of 0,5
mm. (Given:

p = Resistivityofcopper = 1.7 x 10~ %Qm)

° Watch Video Solution



https://dl.doubtnut.com/l/_z8poCGTYk0Ua
https://dl.doubtnut.com/l/_LW0yjs7hOt3D

80. The resistance of a Tm long nichrome wire
is 6€2. If we reduce the length of the wire to 70

cm, what will its resistance be?

° Watch Video Solution

81. Three resistors having resistances of 15(2,
30 and 4f) are connected in series. What is

the effective resistance in the circuit?

° Watch Video Solution



https://dl.doubtnut.com/l/_LW0yjs7hOt3D
https://dl.doubtnut.com/l/_vLjU8Sh3r8fg
https://dl.doubtnut.com/l/_b2SOQ5tGzGeB

82. Solve:

Two resistors having resistance of 16 and 14
are connected in series, if a potential
difference of 18 V is applied across them,
calculate the current flowing through the
circuit and the potential difference across

each individual resistor

o Watch Video Solution



https://dl.doubtnut.com/l/_upesL1wy6cMp

8. Resistors having resistances of 15€2, 2012
and 102 are connected in parallel. What is the

effective resistance in the circuit?

o Watch Video Solution

84. Three resistors having resistances of 5,
1092 and 302 are connected in parallel and a
potential difference of 12 V is applied across

them. Obtain the current flowing through the


https://dl.doubtnut.com/l/_UJ4ZWNpI6B5u
https://dl.doubtnut.com/l/_ixIWYJCgURMQ

circuit ang through individual resistors. What

is the effective resistance in the circuit?

° Watch Video Solution

85. When two resistors are connected in
series, their effective resistance is 80€2. When :
they are connected in parallel, their effective
resistance is 20€). What are the values of the

two resistances?

° Watch Video Solution



https://dl.doubtnut.com/l/_ixIWYJCgURMQ
https://dl.doubtnut.com/l/_T9MEYWNhLL1x
https://dl.doubtnut.com/l/_sZiIAThFXGQa

86. A current of 2 A flows through a conductor
for 90 seconds. How much charge would have

passed through the conductor?

o Watch Video Solution

87. A current of 150 mA flows through a wire
when the potential difference between its
ends is 300 volt. Calculate the resistance of

the wire,

o Watch Video Solution



https://dl.doubtnut.com/l/_sZiIAThFXGQa
https://dl.doubtnut.com/l/_fWUW9snm1mOe

88. A charge of 30 C passes through a
conductor for 2 minutes. Find the current

flowing through the conductor.

o Watch Video Solution

89. Resistance of a bulb is 5009 It is
connected to a battery of potential difference

220 V. How much current will flow through it?

o Watch Video Solution



https://dl.doubtnut.com/l/_AYn6zN0MMVoY
https://dl.doubtnut.com/l/_unyDKv1poyvH
https://dl.doubtnut.com/l/_PXWZ2cJkwbdz

90. Determine the current that will low when
a potential difference of 44 V is applied
between two ends of an appliance having a
resistance of 110€2. If the same current is to
flow through an appliance having a resistance
of 6002, how much potential difference

should be applied across its two ends?

° Watch Video Solution

91. A copper wire of resistance 100 Q is

connected to a battery of potential difference


https://dl.doubtnut.com/l/_PXWZ2cJkwbdz
https://dl.doubtnut.com/l/_mFePoiYYFIb3

25 V. What will be the current flowing through
the wire? If the wire is replaced by aluminium
wire, the current flowing through it decreases
by 0.05 A. What is the resistance of aluminium

wire used?

° Watch Video Solution

92. The length of a conducting wire is 50 cm
and its radius is 0.5 mm. If its resistance is 40}

what is the resistivity of its material?

° Watch Video Solution



https://dl.doubtnut.com/l/_mFePoiYYFIb3
https://dl.doubtnut.com/l/_9Nwbf2Rgnl6S

93. Determine the resistance of a copper wire
having, a length of 0.1 km and diameter of 0.5
mm.

[Given:

Resistivityo fcopper = 1.7 x 10~ 3Qm]

o Watch Video Solution

94. Three resistors having resistances of 12},
9}, 4€) and 32 are connected in series. What

is the effective resistance in the circuit?


https://dl.doubtnut.com/l/_9Nwbf2Rgnl6S
https://dl.doubtnut.com/l/_hLekTtwGsqMo
https://dl.doubtnut.com/l/_xi4pQUBXNF2o

° Watch Video Solution

95. Resistors having resistances of 8(2, 62 and
12€) are connected in parallel. What is the

effective resistance in the circuit?

° Watch Video Solution

96. Rohan took a conducting wire of length 30
cm and diameter 1.2 mm. After connecting to a

power supply, Rohan found that the resistance


https://dl.doubtnut.com/l/_xi4pQUBXNF2o
https://dl.doubtnut.com/l/_gyygAfhn5ZCc
https://dl.doubtnut.com/l/_aRJQuwpueCoj

of the wire is 210€). What is the resistivity of

its material?

° Watch Video Solution

97. Three resistors having resistances of 32,42
and 6€) are connected in parallel and a
potential difference of 12 V is applied across
them. Obtain the current flowing through the
circuit and through individual resistors. What

is the effective resistance in the circuit?

° Watch Video Solution



https://dl.doubtnut.com/l/_aRJQuwpueCoj
https://dl.doubtnut.com/l/_debxDDImMwkC

98. The two resistors when connected
together show maximum value of resistance
as 1602 , and minimum value of resistance as
40€). Determine the value of both the

resistors.

o Watch Video Solution

99. Answer the following question:
You must have seen a waterfull. Which way

does the water flow?


https://dl.doubtnut.com/l/_debxDDImMwkC
https://dl.doubtnut.com/l/_xJRqnaEmVHVh
https://dl.doubtnut.com/l/_cKF9FP3bcRLF

° Watch Video Solution

100. Using the internet find out about the
different  softwares used to  solve
mathematical problems and use them to solve

problems given in this and other chapters.

o Watch Video Solution

101. Solve the cross-word.

ACross


https://dl.doubtnut.com/l/_cKF9FP3bcRLF
https://dl.doubtnut.com/l/_ljtxXFd226Hb
https://dl.doubtnut.com/l/_I2nkOqRQprw2

2. A combination of resistances that reduces
effective resistance of the circuit.

4.1t is the rate of flow of charge.

6. Substance which does not allow current to
flow through it.

Down:

1. Combination of resistances in. which current
flowing through all resistances is same.

3. Ratio of potential difference and current.


https://dl.doubtnut.com/l/_I2nkOqRQprw2

5.1t is used to protect domestic appliances.

—

3 3 __]___

° Watch Video Solution

102. Choose the correct alternative.

Resistivity of a wire of length L is p. Yash broke


https://dl.doubtnut.com/l/_I2nkOqRQprw2
https://dl.doubtnut.com/l/_pVD6MTNjZWoT

this wire into two equal picces of length 5

.The resistivity of each piece will be

N

o
D N

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pVD6MTNjZWoT

103. Choose the correct alternative.
If the effective resistance is to be increased,
then the number of resistors should be
connected in

A. series

B. parallel

C. mixed arrangement

D. none of the above

Answer:

I ° Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_dzV4pfouEvbH
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104. Choose the correct alternative.
If three resistors, having values 2 ohm, 3 ohm
and 4 ohm are connected in series, then

effective resistance in a circuit will be

B.1

C.9

D.5


https://dl.doubtnut.com/l/_dzV4pfouEvbH
https://dl.doubtnut.com/l/_9o7mfMUtuJmn

Answer:

o Watch Video Solution

105. Choose the correct alternative.

In combination of resistors, the current

is the same in every part of the circuit.

A. parallel

B. series

C. mixed arrangement

D. none of these


https://dl.doubtnut.com/l/_9o7mfMUtuJmn
https://dl.doubtnut.com/l/_CN0K8ypqJcfa

Answer:

o Watch Video Solution

106. Answer the following.
Find the odd one out and justify your answer.

Resistor, Battery, Cell, Resistivity

o Watch Video Solution

107. Answer the following.

Complete the given analogy.


https://dl.doubtnut.com/l/_CN0K8ypqJcfa
https://dl.doubtnut.com/l/_J8x8Jpd5DW8n
https://dl.doubtnut.com/l/_ZJNMBn93rFAK

Series combination : Effective resistance

increases :: Parallel combination :

° Watch Video Solution

108. Answer the following.

Match the columns.

Column I Column I1

a. | Insulator l. Aiuminium‘
b, | Conductor | 2. | Paper
" 3. | silicon

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJNMBn93rFAK
https://dl.doubtnut.com/l/_HYd1RRPWS6VM

109. Answer the following.
Name the following.

A device used to measure current

o Watch Video Solution

110. Give scientific reasons.

Why does a thick wire have low resistance?

o Watch Video Solution



https://dl.doubtnut.com/l/_g7U7S65hCd8j
https://dl.doubtnut.com/l/_ZPEkWJTFWxqx

111. Give scientific reasons.
Fuse wire is made from the material with low

melting point.

o Watch Video Solution

112. Answer the following.

Give any four examples of conductors

o Watch Video Solution



https://dl.doubtnut.com/l/_QI3EpcQk0GKc
https://dl.doubtnut.com/l/_CxdYXmyvt11F

113. Answer the following.
The resistance of the filament of a bulb is
15001€2. It is drawing current from a source of

230 V. How much current is flowing through it?

° Watch Video Solution

114. Answer the following.
Distinguish between Resistances in series and

parallel.

° Watch Video Solution



https://dl.doubtnut.com/l/_3i4dyAdDtV5T
https://dl.doubtnut.com/l/_q3ptcB82oPl9

115. Answer the following
Explain the concept of flow of electric current
through a conducting wire, when potential

difference is maintained between its two ends.

o Watch Video Solution

116. Answer the following.
If the resistors 302, 402 and 60f) are

connected in parallel to a battery of 15 V. then


https://dl.doubtnut.com/l/_q3ptcB82oPl9
https://dl.doubtnut.com/l/_LaUA1UHapypP
https://dl.doubtnut.com/l/_ymfo6qsNel3p

find the effective resistance of circuit, the total

current and current in each resistor.

° Watch Video Solution

117. Answer the following.
Derive the expression for equivalent resistance

in parallel combination.

° Watch Video Solution



https://dl.doubtnut.com/l/_ymfo6qsNel3p
https://dl.doubtnut.com/l/_W3YfsWswmkQk

118. Answer the following.
Draw symbols of the following components.

Also state any one function of each.

:r. Component Symbol Functlan. 2 T @ T ‘

00 e S — SN N — S

& | Resistance . ———— ———

b, | Ammeter = - __1
[ Voltmeter e e
d. |Closedkey | L -
e. | Electric cell : —

° Watch Video Solution



https://dl.doubtnut.com/l/_PTzSDAyGHDtQ

